Multiplying Three Mon/Polynomials (A)

DO

Ot

Simplify each expression.

- (3p* — 6p — 8)(—4p” + 4p* + 3p”)(8p* — 6p + 1)

(7t + 3t) (9t + 5t) (287 — Tt)

(=921 —22% — 32%)(—52° — 21 — 723 (=52 +9)

- Twt(—=9w? — 8w)(w — 2)

(=95 + 1)(—65" + 85*) (75" — 85?)
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Multiplying Three Mon/Polynomials (A) Answers

Ot

Simplify each expression.

- (3p* — 6p — 8)(—4p” + 4p* + 3p”)(8p* — 6p + 1)

— —96p” + 360p° — 92p" — 466p° + 125p° + 94p* — 24p°

(7% + 3t) (9t + 5t) (2% — Tt)
— 1265 — 317t° — 404¢* — 105¢3

(—92* — 223 — 32%)(—52° — 2* — 72%) (=52 +9)
= —9225210 4+ 3102”7 — 2292% + 63527 + 4825 + 18927

- Twt(—9w? — 8w)(w — 2)

= —63w’ + 70w’ + 112uw°

(=95 + 1)(—65" + 8s%)(7s* — 85%)

— 37850 — 9785 + 680s° — 645"

Math-Drills.com




